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DISTRIBUTION (CCPD) 
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00336 	June, 2015 

OEE-001 : ELECTRICITY AND SAFETY 

MEASURES 

Time : 3 hours 	 Maximum Marks : 70 

Note : Section A is compulsory. Attempt any ten 
questions from Section B and any ten questions 
from Section C. Write your answers in 
English /Hindi only. 

SECTION A 

1. Fill in the blanks. 

(Select the answer from the choices as under) 10x1.10 

(Impedance, Resistance, Capacitor, Soda acid, 
Files, Pipe wrench, Sinusoidal, Shells, Liquid, 
Oil) 

(i) 	A 	 is a device for storing a large 
quantity of electric charge. 

(ii) AC voltage follows 	waveform. 
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(iii) The property of any material to restrict the 
flow of electrons is known as 	 

(iv) Z is the symbol of 	 

(v) 	are used to smoothen the surface 
or corners of any iron board. 

(vi) 	 is used for tightening or opening 
conduit pipes. 

(vii) 	is used as energy source. 

(viii) Class B fire involves 

(ix) 	 can be used in a fire 
extinguisher. 

(x) Electrons spin around the nucleus in 
zones, which are called 	 
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SECTION B 

Attempt any ten questions. 	 10x2=20 

2. What is the full form of CPR ? 

3. What is power factor ? 

4. What nature of device is required for eye 
protection ? 

5. What are the three factors of fire-extinguishing ? 

6. What is the speciality of minimum Time Delay 
Relay ? 

7. Why is it not advised to design a single 
protection device ? 

8. What are the common sizes of drill bits ? 

9. What are the symptoms of electric shock 
suffered by a victim ? 

10. What do you mean by T & D losses ? 

11. Why is high voltage preferred for transmission 
lines ? 

12. What precautions should any electrician take 
while handling tools ? 

13. What are the uses of a relay in a protection 
device ? 
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SECTION C 

Attempt any ten questions. 	 10x4=40 

14. Draw a single line diagram of a substation. 

15. Differentiate between Step potential and Touch 

potential. 

16. What do you understand by free electrons ? 

17. How does grid improve reliability ? 

18. Mention about functional requirements of the 

Relays. 

19. What is the aim of earthing maintenance ? 

20. What is a burn ? How are burns classified ? 

21. Explain disaster management plan to provide 

electricity in the event of earthquake. 

22. What are the problems being faced in power 

generation sectors ? 

23. Write various precautions and safety rules to 

prevent fire accident. 

24. What are the four stages of fire ? 
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3iT)Wre1 Afri7 / 

1. itT t441-11 ► 111A *tr-AR : 

(4R 1-4"R TR fWF:11 	3TE14 ZUK 	10x1=10 

(31WATIT1 ( 	), rr-datz-*-m (TP4141:0, 
(4Mdk), tilsr lam,Th-rfR4, 	 \ye-414104 

	 , xl r, dkci, c c (aftem)) 

(i) 	, 4W fwg, 	14rft-ff 

(It) 	,3 	(.1 	t 

A.)(74q 	 Ci(11" ( .44)T ) 

aTrtuftff 
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(iii) Nal6 	Tedeird ctk awn, a,41 

tgrai a >f TilT4 	a.).1111 # 

(iv) Z, 	sicflch (441) t 

(v) Nei f.4)41 lit 3Trzrt-4 	*'t wi6 

7ff ch)-ii 	Trijka-  (Smoothen) Gi-H4 

chell Aid! t 

(vi) Mel 11, 	1 cf*1 

rchql AM! t 

(vii) .31•111 kld 	4 6041 ■311(11 

t I 

awr 4 	ma 	cii 	I 

(ix) irq 	4 

cbai 	# 

(x) , frrzfu 	ffl-r 4 film ch(; 
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IITTT W 

*--gf 	J-ff?-  ef-4q l 	 10x2=20 

2. T11.4t.aTR. 	rzr TIT TErf ? 

3. trTaK tRZT Tqf ? 

4. 341311 *I.  TAR 1;-R i 	 rbk4-1 * Tow (Device) 
mq)ii 9Ite,k1 t ? 

5. 31'T 	*4F-4 chitcb 44-A t ? 

6. (Time delay) 1k 	*I fd*EMT ITT 

7. cbc‘i W4TT TIM (Device) 6:41 WA" tl tic-114 
Tef ARI1 t ? 

8. flo N<cti (Bits)* till-H.-el 31T ft (tii*90 WIT t ? 

9. 'IA oel rh 	14-441 

10. T 31 D  i1  (Losses) 31TQw 	t ? 

11. Zvi uliim (-11.11'*   	4it Tql RR' 
? 

12. fl-44I 3tt4R1 A WM chtl 	T, 	rl1qv tem 
ITMTIF4 eitcl-n 1:10 	 ? 

13. Tkirer -  Ilitrq (Protection device) fkA * 	 
fT ? 
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q-?T A 	yff?- er-4k7 	 10x4=40 

14. .161k.-.*-1 r T4.)o 1-ur (gpiri (11*017§rAi -4r-IR  

15. 44 idl-T4 (Potential)* Z -NW* 4-6{ 13111Z 

t11-4R I 

16. +nthrt 	3TP4 ETr 1:11:10 ? 

17. 1 	;i5 	 4 4-K-dT 614 ? 

18. Rcs) 41 NchNiciich aTm-zr-+-mat 
4tr-A-R 

19. 3TRITI (Earthing) RTell. 	arfk-FIT 	*47:1 
Tit? 

20. TrT ITRT (4) d7ErT t 	7r4 (4) 	wff-t-ff 
.y41 	*? 

21. 11-E-tr 3Tr4 	-Pa NA(41 SFrsktT 4.)k4 
3ucr-4i 3r4tzq 41),TH 	I tr 00-1R9di 	I *117R I 

22. 14--4 	.4,A 	 14461   Rgrerfall 

1k-ii 	t ? 

23. 1rfi TiitftZiif -4 -494 	rc,R  -kq -kr-otT 
Rrmi-rf4aff 1t Tur 	,410-1 (4)(-11 	? 

24. 3TITT 	WWF 0q-4 ? 
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